

$$\frac{a}{q} \times a \times a \times a = a^4 = 4 \times 4 \rightarrow a = 4$$

$$a_1 + a_2 + a_3 = 21 = a + aq + aq^2$$

$$\frac{a}{q} + a + aq = 21 \quad a_1 \times a_2 \times a_3 = 4^3 = a^3 q^3$$

$$\rightarrow \boxed{q = \frac{1}{4}}$$

$$\rightarrow q = 4 \rightarrow 004$$

حساب نسبت

$$(2n)^2 = (n^2 - 4)(n^2 + 4)$$

$$4n^2 = n^4 + 4n^2 - 2n^2 - 16 = n^4 + 2n^2 - 16$$

$$4n^2 = n^4 + 2n^2 - 16 \Rightarrow n = 4$$

$$a_1 = n^2 - 4 = 12$$

$$a_2 = 2n = 8$$

$$a_3 = n^2 + 4 = 20$$

$$\left. \begin{array}{l} a_1 = 12 \\ a_2 = 8 \\ a_3 = 20 \end{array} \right\} q = \frac{1}{4}$$

(2) ✓

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = 1 \left(\frac{\frac{1}{4}^n - 1}{\frac{1}{4} - 1} \right)$$

$$= 1 \times \frac{1 - 4^n}{-3/4} = \frac{1 - 4^n}{-3/4} = \frac{4(1 - 4^n)}{-3} = \frac{4(1 - 4^n)}{-3}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11} \Rightarrow 1 + q + q^2 + q^3 + q^4 = \frac{11}{11}$$

$$\Rightarrow q = \frac{1}{11}$$

(2) ✓

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = 1 \times \frac{1 - \left(\frac{1}{11}\right)^n}{\frac{1}{11} - 1} = 1 \times \frac{1 - \frac{1}{11^n}}{-10/11} = \frac{11(1 - \frac{1}{11^n})}{-10}$$

$$1, 0, 0, 0, 0, 0, 1$$

$$d = 1 \Rightarrow d = 10 \Rightarrow A = 1010$$

$$1, 0, 0, 0, 0, 0, 1$$

$$A = 1010$$

$$B = 1 \times 1 = 1$$

$$B = 1 \Rightarrow B = \pm 1$$

$$\boxed{A + B = 1011}$$

$$A + B = 1010 - 1 = 1009$$

✓ (1, 1, 1)

$$-rf, -\frac{r\omega}{f}$$

$$\checkmark \left(+\frac{1}{f} = d \right)$$

$$a_n = \frac{1}{f} n \Rightarrow -rf, r\omega$$

$$a_{100} = r\omega - rf, r\omega = 0, r\omega$$

$$a_{1.1} = -rf + 1 \cdot \left(\frac{1}{f} \right) = 1$$

$$+1 = 1r\omega \quad \frac{a_{99}}{a} = \frac{r}{f} = \frac{r}{\omega 1r} = q^{99} \Rightarrow q = \left(\frac{r}{\omega 1r} \right)^{\frac{1}{99}}$$

$$a_n \cdot a_{99}^V = 1 = 1r\omega \cdot q^V = q^V = \frac{1}{1r\omega} \Rightarrow q = \frac{1}{r}$$

$$(a_v)^r = a_r \times a_q = (a + r d)^r = (a + r d)(a + r d)$$

$$\Rightarrow a^r + 1r d a + r^2 d^2 = a^r + 2r d a + r^2 d^2$$

$$\boxed{d \neq 0} \Rightarrow r a d = r^2 d \Rightarrow r a = r^2 d \Rightarrow \boxed{a = \frac{r^2}{r} d}$$

$$a_v = \frac{r^2}{r} d + r d = \frac{r^2}{r} d$$

$$a_q = \frac{r^2}{r} d + 1d = \frac{r^2}{r} d$$

$$a_r = \frac{r^2}{r} d + r d = \frac{r^2}{r} d$$

$$\frac{r^2}{r} d, \frac{r^2}{r} d, \frac{r^2}{r} d$$

$$(a_r)^r = a_r \times a_1 = (a + r d)^r = (a + r d)(a + r d) \Rightarrow a^r + 2r d a + r^2 d^2 = a^r + 1r d a + r^2 d^2$$

$$\Rightarrow r d a = r^2 d \Rightarrow r a = r^2 d \Rightarrow a = r d$$

$$a_{10} = \frac{1}{f} \times r^9 = \frac{1}{f} \times \omega 1r = 1r\omega$$

$$\left. \begin{array}{l} a_r = r a = r d \\ a_f = r a = r d \\ a_1 = 1 a = 1 d \end{array} \right\} q = r$$

$$\frac{r a + a^r}{r} = r a q^r \Rightarrow r a + a^r = r a q^r \Rightarrow r + q^r r = r q$$

$$\Rightarrow q^r - r q + r = 0 \Rightarrow (q - r)(q - 1) = 0 \Rightarrow q = r \text{ غير ثابت } \Rightarrow \boxed{q = r}$$

$$r + \frac{v}{f} \Rightarrow d = -\frac{1}{f} \text{ و } a_n = -\frac{1}{f} n + r, r_0$$

$$a_f = 1, r_0 = \frac{a}{f} \text{ و } a_1 = \frac{1}{f} \text{ و } a_{13} = -1$$

$$\left(\frac{a}{f} + n\right) \left(\frac{1}{f} + n\right) (-1 + n) \Rightarrow \left(\frac{a}{f} + n\right) (-1 + n) = \left(\frac{1}{f} + n\right)^2$$

$$\Rightarrow -\frac{a}{f} + \cancel{\frac{1}{f}n} + \cancel{n^2} = \frac{1}{13} + \cancel{\frac{2}{f}n} + \cancel{n^2} \Rightarrow \frac{1}{f}n = -\frac{21}{13} \Rightarrow n = -\frac{21}{f}$$

$$a_f + n = -\frac{13}{f} \text{ و } a_1 = -\frac{20}{f} \text{ و } a_{13} = -\frac{25}{f}$$

2 ✓

$$\frac{-\frac{20}{f}}{-\frac{13}{f}} = \frac{a}{f} = 9$$

$d = 1$ نیز قابل قبول است ←

$$a_1 + a_f + a_v = v^3 = a_1 + a_9 + a_9 = 3 + 10d$$

$$\frac{a_9}{a_9} = \frac{a_9}{a_9} = 9 = \frac{t+d}{t} = \frac{t+9d}{t+d}$$

1,5

$$\Rightarrow \cancel{t^2} + 9d\cancel{t} = \cancel{t^2} + 9\cancel{t}d + d^2 \Rightarrow v + d = d^2 \Rightarrow vt = d$$

$$t = \frac{1}{v}d \Rightarrow 3t + 10d = v^3 \Rightarrow \frac{v^3}{v}d = v^3 \Rightarrow d = v$$